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8 17 10 ø 10

Form Anzahl Länge Länge Länge

a Einzelstab Gesamt

[cm] [cm] [cm]

17.1 1 338 406 406

17.2 1 305 373 373

17.3 1 273 341 341

17.4 1 240 308 308

17.5 1 208 276 276

17.6 1 175 243 243

17.7 1 143 211 211

17.8 1 110 178 178

17.9 1 77 145 145

17.10 1 45 113 113

Summe der Längen = 25.940 m
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18 10 ø 10

Form Anzahl Länge Länge Länge

a Einzelstab Gesamt

[cm] [cm] [cm]

18.1 1 253 381 381

18.2 1 306 434 434

18.3 1 275 403 403

18.4 1 244 372 372

18.5 1 213 341 341

18.6 1 182 310 310

18.7 1 151 279 279

18.8 1 120 248 248

18.9 1 89 217 217

18.10 1 58 186 186

Summe der Längen = 31.710 m


